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QUESTION 1

A company is implementing a new wireless design and needs it to support high availability, even during times of switch
system upgrades. The solution will involve Aruba Mobility Controller (MC) and Aruba AP connections requiring POE.
Which campus AOS-CX switch solution and virtual switching should the company implement at the campus access
layer? 

A. AOS-CX 6400 and VSX 

B. AOS-CX 6300 and VSF 

C. AOS-CX 8325 and VSF 

D. AOS-CX 8400 and VSX 

Correct Answer: A 

Explanation: only 6400 support highly available during upgrades 

 

QUESTION 2

Examine the following ACL rule policies: 

Permit traffic from 10.2.2.1 through 10.2.2.30 to anywhere 

Permit traffic from 10.2.2.40 through 10.2.2.55 to anywhere 

Deny all others 

Based on this policy, place the following ACL rule statements in the correct order to accomplish the above filtering
policy. 

A. deny ip 10.2.2.31 255.255.255.255 any permit ip 10.2.2.40 255.255.255.248 any permit ip 10.2.2.48 255.255.255.248
any deny ip 10.2.2.32 255.255.255.224 any permit ip 10.2.2.0 255.255.255.192 any 

B. permit ip 10.2.2.40 255.255.255.248 any permit ip 10.2.2.48 255.255.255.248 any permit ip 10.2.2.0
255.255.255.192 any deny ip 10.2.2.31 255.255.255.255 any deny ip 10.2.2.32 255.255.255.224 any 

C. deny ip 10.2.2.31 255.255.255.255 any deny ip 10.2.2.32 255.255.255.224 any permit ip 10.2.2.40 255.255.255.248
any 

permit ip 10.2.2.48 255.255.255.248 any 

permit ip 10.2.2.0 255.255.255.192 any 

D. deny ip 10.2.2.31 255.255.255.255 any permit ip 10.2.2.40 255.255.255.248 any deny ip 10.2.2.32 255.255.255.224
any permit ip 10.2.2.48 255.255.255.248 any permit ip 10.2.2.0 255.255.255.192 any 

Correct Answer: A 
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QUESTION 3

Which AOS-CX switches support weighted fair queuing (WFQ)? 

A. Both 8320 and 8325 

B. Both 6300 and 6400 

C. 8400 only 

D. 6300 only 

Correct Answer: C 

Explanation: https://www.arubanetworks.com/techdocs/AOS-CX/AOSCX-CLI- Bank/cli_8400/Content/QoS_cmds/wfq-
que-xl-swi.htm 

 

QUESTION 4

A company has recently upgraded their campus switching infrastructure with AOS-CX switches. They have
implemented 802.1X authentication on access ports where laptop and IOT devices typically connect. An administrator
has noticed that for POE devices, the AOS-CX switch ports are delivering the maximum wattage to the port instead of
what the device actually needs. 

Concerned about this waste of electricity, what should the administrator implement to solve this problem? 

A. Implement a classifier policy with the correct power definitions 

B. Create device profiles with the correct power definitions 

C. Enable AAA authentication to exempt LLDP and/or CDP information 

D. Globally enable the QoS trust setting for LLDP and/or CDP 

Correct Answer: B 

 

 

QUESTION 5

Examine the attached exhibit. 

HPE6-A73 PDF Dumps | HPE6-A73 Exam Questions | HPE6-A73 Braindumps                                3 / 4

https://www.pass2lead.com/hpe6-a73.html
https://www.pass2lead.com/hpe6-a73.html
https://www.pass2lead.com/hpe6-a73.html


https://www.pass2lead.com/hpe6-a73.html
2024 Latest pass2lead HPE6-A73 PDF and VCE dumps Download

The network administrators is trying to add a remote location as area 3 to the network shown in the diagram. 

Based on current connection restrictions, the administrator cannot connect area 3 directly to area 0. The network is
using AOS-CX switches. 

Which feature should the administrator implement to provide connectivity to the remote location? 

A. Not-so-stubby areas 

B. Bidirectional forward detection (BFD) 

C. OSPFv3 

D. Virtual links 

Correct Answer: D 
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